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7 100kN/mM%BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 4.68 5835 | EnRS | 000 ~ 4.68| 1.83 9.27 st 1.00 | 6.00 ~ 5.00 58.35 | =nLS | 5.00 ~ 6.00| 1.83 927
2 100kN/mM%#BZ % — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 4.76 59.30 | =nRS | 000 ~ 4.76 | 2.18 11.04 st 1.00 | .00 ~ 7.00 59.30 | =hLS | 5.00 ~ 7.00| 2.18 11.04
3 100kN/mM%#BZ % — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 6.05 75.78 | LS | 000 ~ 605 1.94 9.82 st 1.00 | 6.00 ~ 7.50 75.78 | ThSY | 5,00 ~ 7.50| 1.94 9.82
4 100kN/m%E#8Z5 | 1.00 | 000 ~ 053 107.79 |3mEEBZDH| — ~ — — — | 100kN/ %8825 | 1.00 | 10565 ~ 1200| 10779 |3mE#Z5 - ~ — — —
s 1.00 | 0.53 ~ 831 100.00 | #=nlst | 0.00 ~ 831|222 11.21 st 1.00 | 6.00 ~ 1055 100.00 | =nst | 6.00 ~ 1200 2.22 11.21
5 100kN/ M=% | 1.00|0.00 ~ 0.09 101.35 |3mZEBAD| — ~ — — — | 100kN/ %8825 | 1.00 | 10.76 ~ 11.00| 10135 |3m%E#Z5 - ~ — — —
s 1.00 | 009 ~ 788 100.00 | #nst | 0.00 ~ 788 | 2.30 11.61 st 1.00 | .00 ~ 1076 100.00 | =nst | 5.00 ~ 1100| 2.30 11.61
P 100kN/mM%#BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S - ~ — — —
s 1.00 | 0.00 ~ 761 97.43 | =nS | 000 ~ 761\ 1.93 9.76 st 1.00 | 6.00 ~ 1200 97.43 | =hLS | 5,00 ~ 1200| 1.93 9.76
- 100kN/mM%#BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S - ~ — — —
s 1.00 | 0.00 ~ 525 65.48 | FnLSY | 0.o0 ~ 525|208 10.49 st 1.00 | 6.00 ~ 7.00 65.48 | =S | 5.00 ~ 7.00| 2.08 10.49
P 100kN/mM%E#BZ 5 — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZS - ~ — — —
s 1.00 | 0.00 ~ 395 49.60 | FnLSY | 000 ~ 395 235 11.86 st 1.00 | .00 ~ 7.00 49.60 | ThLS | 5,00 ~ 7.00| 2.35 11.86
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~
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